

Realiza la operación y luego reduce la fracción resultante:

$$\frac{60}{60} - \frac{36}{60} - \frac{20}{60} + \frac{15}{60} =$$

$$\frac{11}{15} - \frac{2}{3} =$$

$$\frac{1}{6} + \frac{3}{4} - \frac{1}{2} =$$

$$\frac{4}{15} + \frac{7}{5} - \frac{4}{3} =$$

$$\frac{5}{6} + \frac{3}{4} + \frac{2}{3} =$$

$$\frac{4}{7} + \frac{2}{3} - 2 =$$

$$\frac{3}{5} - \frac{1}{4} + \frac{1}{6} =$$

$$\frac{3}{5} + \frac{2}{3} + 1 - \frac{7}{6} =$$

$$\frac{7}{8} - \frac{3}{6} + \frac{4}{3} =$$

$$1 - \frac{3}{5} - \frac{1}{3} + \frac{1}{4} =$$